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() 2mARROMES Part 1 % =
1 [2 B ERXDERK]
ROFEAZME 72X\, (1 5x2)
(1) x2 =36 (2) x2=7
x =16 x =47
2 [ ax? — b = 0 BY)
ROFFEAZME IR X v, (18%8)
(1) x2—-25=0 (2) x2-20=0
x =45 X = iZ\/§
(3) x2—=54=0 (4) 2x2—-18=0
x=+3V6 x=+3
(5) 75x2% = 27 6) 5x2—-2=0
x= +E = +m
~*5 r=E7g5"
(7) x2=3=1 (8) 20x2% — 8 = 2x2
2
x=42 x= i§
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B3E 2.RAER
=
b 2RGEOEE TS Part2 ﬁ’ei’: =
1 [(x + m)? = n BY)
ROFTEXZ R E 7 X v, (14%8)
(1) (x+3)®2=49 (2) (x—8)2 =80
x=4,-10 x=8+4V5
(3) 35(x + 10)% = 21 @ 9(x—2)2=4
= + L x=1 —1
x=-10 T T - ) 3
2 (B EERWERES)
ROFFEAZME IR E v, (1%
(1) x+2)(x=7)=0 (2) B3x+5)(Bx—=5)=0
5
x=-2,7 = i§
(3) x2—7x+6=0 (4) x24+8x+15=0
x=1,6 x=-3,-5
(5) x2—-3x=0 6) x2—16x+64=0
x=0,3 x=8
(7) x2 —2x =35 (8) 4x% 4+ 10x = 3x%2 —7x — 72

x=17,-5 x=-8,-9
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B35 205K
2 =
/% s, | vyl
v 2 RAENDOEEZHS Part3 ﬁ* =
1 (IMROAR] ZAVEHRES]
ROJTEAZMRE 7 X v, (%10
(1) x2—-3x—-5=0 (2) x24+7x+3=0
E- V15 -7+ V37
X = 2 X = 2
(3) x24+2x—-10=0 4) x2—6x+7=0
x=-1+V11 x=3+V2
(5) x24+5x+2=0 6) 3x2+8x—12=0
—-1++19 —4 1+ 2+/13
X = X =
3 3
(7) 2x2 —4x—-5=0 8) 3x2+2x—6=0
_, 5 1 3
x=2,-3 *=372
9) 6x2+11x—10=0 100 16x2—18x+5=10
2 5 5 1
=373 *=8 2
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$3IE 2xH5ER
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-
() 2rmietom=s5 Parta i =
1 (WBWBRZxAER]
ROFTEAZfREZ 72 X v, (1 x10)
(1) =x2—5x+14=0 (2)%x2—x+%=0
x=2,-7 x=1,2
(3) 0.3x24+0.9x —54=0 @) x(x+6)=2x+5
x=3,—-6 x=1,-5
(5) (%x+1)2+2(x+4)=0 (6) x2 —12x =12
x=-12+3V7 x=6+4/3
(7) x(x —6) = =2 (8) x +40 = (x — 2)?
x:3+\/7 x=9,—4
1.1, _ x®+x | x+3 _
9) 5(3x*+x) =9 ) —=F=+-5==0
XxX=6,—-9 x=3,-2
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o =
L 2RAEXDEEST Parts “ ﬁg =
1 (BinEFAT 3 2:RA51ER]
ROFERZIREZ 72X Vg (14x10)
() x—124+2(x-1) =0 (2) x=2)24+7(x—-2)+12=0
x=+1 x=-1,-2
(3) B3x+2)2=10(83x+2)—24=0 4) (4x—7)>=3(@4x—-7)—54=0
10 4 4 1
x—?,—g X = , Z
(5) 1-2x)2+6(1-2x)+9=0 6) 2x+1)2—(x—-4)2%=0
x=2 x:1,—5
(7) Bx+2)2—-(x—-3)%2=0 8) (x+5)?2?+4(x+5—-6=0
1 5
*T1 72 x=-7++10
9 (x—=3)2—4(x—-6)2=0 10 (x+3)2+2x+3)x-D+(x—-1)2%=0
x=5,9 x=-1
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